1 ‘ 3 e . . (20 % ) % £ 1 i

-hoose the most appropriate answer to the following questions giving justification: 2x10=20

F (1) kcqmpmy has a break even point when sales are T 3,20.000 and variable cost at that level
of .sales are ¥ 200,000 How much would contribution margin increase or decrease if
variable expenses are dropped by T 30,000?

(A) Increase by 27-5%

(B) Increase by 9:375%
(C) Decrease by 9-375%
(D) Increase by 37-5%

(ii) Twin Ltd. uses JIT and back flush accounting. It does not use a raw material stock control
account. During September 2018, 10000 units were produced and sold. The standard cost per
unit is ¥ 150 which includes materials of T 60. During September 2018, T 9.90.000 of
sts were incurred. The debit balance in cost of goods sold account for

conversion €O
September 2018 was
(A) T 14,00,000
B) X 14,80,000
(C) ¥ 15,90,000

(D) T 16,20,000

Please Turn Over
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v d 4 on costing
(iii) Awwam.mumw 330000and . ,

(iv)

(v)

(2)

mmww

overheads for the cor for last year were T

units. At the end of th cmqmy'aﬁnmmlyear the total

debited to the Fixed Production Overhead Control Account %
output achieved was 2,00,000 units. The under/over absorption ©

(A) T 40,000 over absorbed
(B) T 40,000 under absorbed
(C) T 50,000 over absorbed
(D) T 50,000 under absorbed

ofdleﬁxedp-oducbﬂ
u!ZﬁOMdﬂ

f overhead was

A company has the capacity of producing 80000 units and presently sells 20000 umits |
¥ 100 each. The demand is sensitive to selling price and it has been obser ed that with eve _
reduction of T 10 in selling price the demand is doubled. What should be the target cost '
selling price if the demand is doubled at full capacity and profit margin on sale is taken t
25%? |
(A) T75
(B) T 90
(C) T25
(D) T 60

A factory can make only one of the three products X, Y or Z in a given production period

The following information are given:

Per unit T X Y 7
Selling Pnice 1500 1 ROK) 2000
Vanable Cost 700 Q%[ 1000
y constraant on resour l1
Assume that there 1s no cons ¢ ource uliization or demand and similar resources are

consumed by X.Y and Z. The opportunity cost of making one unit of 7 1s

(A) T 850
(B) ¥ 800

A

3

(C) 1800

(D) T 1500




(b) Inventory finance costs
(¢) Self refilling costs

(¢) Costs of repacking or ‘pack out” prior to storage before s
. AB company’s calculation of direct ‘product proﬁt (DPP) would in

(A) Costs (a) and (c) only
- (B) All of the above costs except (b)

(C) All of the above costs except (d)
(D) All of the above costs

) S Ltd. manufactures a product whose time for the first unit is 1000 hours. It experiences
- learning curve of 80%. What will be the total time taken in hours for units 5 to 8?
(A) 4096 hours

~ (B) 3200 hours
(C) 1536 hours
(D) 2000 hours

a

) H Group has two divisions, Division P and Division Q. Division P manufactures an item that

1s transferred to Division Q. The item has no external market and 6000 units produced are
transferred internally each year. The costs of each division are as follows:

Division P Division Q

T 100 per unit

Variable cost T 120 per unit

< 90,000

Fixed cost each year < 1,20,000

Head Office management decides that a transfer price should be set that provides a profit of
¥ 30,000 to Division P. What should be the transfer price per unit?
(A) X 145

(B) ¥ 125
(C) T 120

(D) ¥ 135



(4)

iyartal
8 N t of an activity Wit
% ‘ | . ‘on Of the ﬂoa o ; _
(ix) In the context of Critical Path Analysis, the Pom(f) 1 subsequent activities 18 called

consumed without affecting adversely the float 0

(A) Free float

(B) Interfering float

(C) Independent float -
(D) Total float

i ¢ step in sequence?
(x) In CPA (Critical Path Analysis) which of the following is n0t 2 correct SiFR

(A) Understanding the logic of the system under consideration
' s
(B) Constructing the net work

(C) Providing estimates for activity duration

(D) Implementing and controlling the net work

Section-B
Answer any five questions.

Each Question carries 16 Marks. 16x5=80

2. (a) You are given the following data for a period in respect of two products, X and Y, which
consume support services in different proportions: ! ) ?

Product X Product Y

Units produced 40 40
Material moves per product unit 12 28
Direct labour hrs. per unit 1740 1740

Budgeted material handling costs: ¥ 3,48,000
Required:

(i) Determine cost per unit of X and Y yqi
: using th
(direct labour hrs.). g the VOlume-based i
¥ allocation method
(i) Compute cost per unit of X and Y using ABC ‘
(iif) How would you explain the results? ‘

1+3+4=8

T S



Ty °r by gqmpunng in qetall the cost and profit for the
; Op ophed by the management ‘

8
Lud. pmdnces thme cts The cost data ane as under:

Particulars X Y 7

Direct Materials T 64 152 b

Direct Labour: ;
; Dept. Rate perhour @)  Hrs. Hrs. Hrs.
‘ 1 5 REY - 10 ;200

3 4 RS o

Variable overheads RGP 94

Fixed overheads ¥ 4.00,000 per annum.

The budget was prepared at a time, when market was sluggish. The budgeted quantities and
selling prices are as under:

Product Budgeted Quantity Selling price (¥)/unit
b 4 9750 270
Y 7800 280
& Z 7800 400




| 20% for f
o I be increased by
ved and the sales quantities could - iofiicd that the inc

and 25% cach products Y and Z. The Sales Manage production Manag
quantities could be achieved at the prices originally budgeted. Thed o limitation o
stated that the output cannot be increased beyond the budgeted level due ]
labour hours in Department 2.

Required: |
(1) Set optimal product mix,
(ii) State profit under optimal product mix.
(b) A company is producing and selling three products. How would you determine rel "
profitability of products in each of the following independent situation?
(1) Total sales potential in unit is limited,
(i1) Total sales potential in value is limited,
(1)) Raw materials are in short supply,
(iv) Production capacity (machine hours) is limited. I+1+1+1

(a) A company is organized into two divisions, namely X and Y, and produces three products A, B
and C. Data per unit are:

A B i
Market price %) 240 230 200
Variable costs (%) 168 120 140
Direct labour (hours) 4 5 3
Maximum sales potential (units) 1600 1000 600

Division Y has a demand for 600 units of product B for its use.

If Divi
the requirement, Division Y can buy a similar product from marke sion X canng] supply

tat¥ 224 per unit.
Required:
What should be the transfer price of 600 units of B for Division Y, i

hours available in Division X are restricted to 150007 1 the total direct labour-
8
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programme. TR
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v) Presently there are 7 w.orkers in the Store department at a salary of ¥ 10,000 each per
month. After imp}ementing' JIT scheme, only 4 workers will be required in  this

department. Balance 3 workers’ employment‘will be terminated.

/1) Due to receipt of ‘smaller lots of Raw Materials, there will be some disruption of

production. The costs of stockouts are estimated at ¥ 1,54,000 per annum.

ii) Since the supplier is new having no reputation as yet in the market, an additional

inspection cost of ¥ 12,000 p.a. has to be incurred.

Required:
Determine the financial impact of the JIT policy. Is it advisable for the company to

implement JIT system? 6+2=8

 One kilogram of product ‘K’ requires two chemicals A and B. The following were the details of

product ‘K’ for the month of June 2018:

(i) Standard mix ratiois 1:1

(ii) Standard price per kilogram of chemical ‘A’ ¥ 12 and chemical B Z15

. . ‘ ’ 1 ams
(1) Actual input of chemical ‘B 70 kilogr

Please Turn Over




6.

Muired

‘Compute all missing variances and complete the Variance Report.

| (b) Fora machine the financial data are given below:

Time (Year)

0 1 2 3

Outlay (%)

5000

Operating Costs ()

1400 | 1500 | 1600

Maintenance (%)

300 | 400

Value if Scrapped )

3400 | 2000 | 800

The appropriate interest rate is 12% p.a. and the discount factor is as follows:

Year

12% Disc. Factor

0-893

0-797

Required:

Determine the optimal length of replacement cycle.

(a) The following is the information regarding turnover and qualit

Y cost of a company:

(i) ~Sales revenue ¥ 10,000,000 net income %10,00,000

(i) During the year, customers returned 300

T 7 per unit.

00 units neeg;
g repair. Repq;
© Repair cost aye |
rages

|

1



¥ [ 18 g
1) A customer cancelled Iﬂ ﬂm would hgve.inwuud the profits by ¥ 2,50,000. The

customer’s reason for cancellation was poor product performance. The accounting and

marketing departments agree that the company loses at least this much during the year for
the same reason.

(vii) The company employs five full time employees in its complaint department. Each earns
T 20,000 a year.

being sent to the customer.

:r- (ix) The company requires all new employees (o take in three hour Quality-Training
3 programme. The estimated cost for the programme is ¥ 80,000.

(x) Inspection of the final product requires testing equipment. The annual cost operating and
manufacturing this equipment is T 1,20,000.
thmr()d: .
Prepare 2 simple quality cost report classifying costs by rational category. 8

‘b) Ih f ” : g was the pattem for (lelllalld ()f cars I'CﬂlCd oul hy d l()llriﬁl Op(ar:.lor ObHErVEd for
c 1ol1lowin .
Im d'd_\'\:

7 l()I Iil

P T T 1

30 40| 10|

No. of days

The random numbers are 88, 76, 10, 05, 23.
R<'qmr«d;

 ——

d for cars oVer five days.

(1) Simuls e deman
‘ Simulate th hould the operator have in order to have at least 75% probability of
1 , -ars s

) How many ¢ your simulated results?

543=
fulfilling the demand based on +3=8

Please Turn Over
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ml“ V .. . : 1 1 y ol
g ‘ i activity:
iect and the time duration of each “

(a) Given the following information regarding a proj =
ime (day
Activity Preceding activity Normal Ti
: 16
A i -
20
: ey
c A b AR
D A 10
T
: e Lo SRR

Required:
(i) Draw the activity network of the project.
(ii) Find critical path and duration of the project.

(iii) Find the total float and free-float for each activity.

(b) Coffee powder is made by a shop by blending different flavours of coffee seeds. 520 gms :
Plantation A seeds and 510 gms of Plantation B seeds are ground to yield 1000 gms of Spec1a§iv‘
Blend powder. 520 gms of Peaberry seeds and 560 gms of Plantation A seeds are ground t(
yield 1050 gms of Special Peaberry powder. 500 gms of Plantation B seeds and 510 gms ol‘
Robusta seeds are ground to get 980 gms of Normal Blend powder. The contribution per kg ol
Special Blend, Special Peaberry and Normal Blend are ¥ 100, 120 and 140 respectively. The

following stocks are available for the production period:

Plantation A: 200 kgs; Plantation B: 300 kgs; Peaberry: 250 kgs; Robusta: 51k
= : gs.

Grinding capacity on a total is limited to 500 kgs of output in a productj o
10N perio

Required:

Formulate the above as a linear programme with the obiect;
JeClive to maxims: ;
Ximise contribution. Identif)

the variables and give the constraints. (Consider 1000 gmg = Ikg

i §







